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mdv/dt=mg—k,v* (r=20) (1.1)

{v(r)=0 (r=0) (1.2)
XE, RALFIEER, Ru=k/m, Hik
t=rn/gu s V=0/N9/i
JUIFS I
dV/dt+V =1 (t20) (1.3)
{V(0)=0 (1.4)

AT HBESBERFER(.3), (1.4), BIPERO.3)PRIERET 2 RUNSE (FHE
HERBFBEESe=1) , FTERO.IDERH

dV /dt+eV? =1 (1.5)
BR(L.5)BE K
dV/dt=1—el?* (1.8)
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1—y=K (1.7)

{y—(l——sVz)=K(1—£V) (1.8)
o K()RfeskmoEsg, BR(1.7), (1.8)"%F

{K=8V2/(2—-8V2) (1.,9)

y=1—K (1,10)

MFK=0(e) Bt E, wmmzo(e), &MNE

K=K*=%8(V°)2+O(52) ' (1,
At VOJye=O0RtIV B, HY

{dV/dt=1

V(0)=0
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RAR(1.10)%

y=1—¢t?/2 (1

FR, BIASSDERETBHK Ry LIE.,

TESCERY b, FERATE BB B R IEURES V (1), HRO1L9OKRAR(L,
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y=1—el*/(2—el?)
FRE
V=nN2(y—1)/(ey—2¢) (1.
KR IORNER, Hde=15
V=nN1/(1+8]2) (1.

Xt RAFBERSBEREBHORN(1.3), (1, 4) 89 LI,
R(1.3)s (L 4)WHEm@EN"

V=(1—exp[—2t])/(1+exp[ —2t]) (1,

FEM @ ERERR(1.3), (1L 4)K=FrEgn™
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Hode, £F 1 hROGAHE T BB RO = CUgN(1.18), N\&E 1 FE 1 AR, KX
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RAA.17) #(1.16) A(1.17) _(1.16)
0 0 0. 2.0 0.9640 1.1547
0.2 0.1974 0.1980 2.5 0.9866 1.2309
0.4 0.3799 0.3849 3.0 0.9951 1.2792
0.6 0.5370 0.5523 3.5 0.9982 1.3112
0.8 0.6640 0.6963 4.0 0.9993 1.3333
1.0 0.7616 0.8165 8.0 1.0000 1.3926
1.5 0.9051 1.0290 00 1 1.4142
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ek 3 ZHIEMREC18)
0 \ z?oo AI.OO
1
—. B # 2
%% 2% 22T %) 10 {4 5] &
{xdu/dx+u+sudu/dx=0 (2.1)
u(l)=1 (2.2)
BR.DBEBEK
X du du
T dw T T (2.3)
BINEEER Y (%), H4S
{yl_‘l:Kl (2.4)
V1 tedu/dx—y1=K,(1+edu/dx) (2.5)
Bx(2.4)s (2.5)8%
_.du / du :
{ Kl—S—dx (2+8d—x) (2.6)
y1i=1+K, (2.7

TR BRI CUE, WHEO(e), R(2.6)T KR
Ki=K¥*=(¢/2)du’/dx+O(e?)
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K ' he=0mfWuld, H
xdu/dx+u=0
} (2.9)
u(1)=1
Wi, BRE
w=x" . (2.10)
¥ ERRAR(2.8), BRAR(Q2.)E
y:=1—%ex‘2+0(82) (2.11)

RBIBEREBT K, yiLtifEs, 3E,

¥R (2.6)RARC.NE

_ edu/dx
yr1=1 +2+edu/dx

FRE
edu/dx=(2y,—2)/(2—y1)
B2 ADKRANERE

du —ex?

Edx = 1¥ex %2
¥ ERBS, HMADR&H(2.2)F

o Tein-t——* Y qin-!
u=1 ‘/?[sm ‘(N/m) sin (
X EHMNBHEEZESEREBOR(2.1), (2.2)808E CURITR.

iz, RIRAFEALZREERERBR(2.1), (2.2), XTEBETHAERHEE,

FEx=0MHEE L EL, SINEEZE
{=x, £=x/e
H4
a=uy(&, &)+teui(éy £)
A
du/dx=(1/e)0u/0&+0u/0¢
RAR(C.1)E :

§(~i— Ou +g—g) +u+su(-i— -

o0&
BR(2.14)RN, 2B RENRYMAEE
£ou,/0E=0

ouy 0u,
¢og o

ou, ou, du,
g-ag— +§"“a'§‘ 4-uy +uoT§~
Oug
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ou,
9

+u, +u, =0

HR(2.17)8%
u,=C(¢)

ou
+un +u0 a—§°=0
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#LERRAR(2.18)5
£ou, /9= —EdC/dE—C(E) (2.21)
[ V=]
dC
c_d_g_+c=o (2,22)
B, thfEu/aYi>oib LS, BHN(2.22)F
G
C=f
A CoOMEERER, AKRM()=18C=1, ¥F
uo=?1 (2.23)
HR(2.21), (2.22)%
u=C(£) (2.24)
#R(2.24), (2.23)RAK(2.19)F
dCi/dE+E1Ci=¢
By, HFH&Fn(1)=0%
y— 5_'1—25'3 (2.25)
H3:X0(2.23), (2.25)REH
a=x""de(x'—x"%)/24+0(e?) (2.26)

Xt B2 REBRBHON(2.1), (2.2)N—ZL IE,
R(2.1), (2.2)KEHRBEN
u=(1/e)(—x+a/ x2+2e+e?)

AT HERLERNOBE, ££2(e=0.1)RE 3(e=)PIBAIGE QRN (2, 12) SHH
MR(2.2T) AT TR, RPBRFIANT LREBRN—FoL CIR(2.26), NE 2R, %e R
(e=0. ), AKIGEPBAMGRRE, HEHTLRERE, & 3 WELH, PEELAETRMR
F(e=1), KAICLCBNBENARE, ZREKENN—-FEMUR.260)MZLT, Huf

BExE AR BLARE, SxBBRAR, sERFRD,

% 2 (e=0.1) ¥ 3 (e=1)

. u . ? u
- Lo 2 2 5 85 < o B Foitn S5
1.0 1 1 1 1.0 1 1 1
0.9 1.0995 1.1052 1.0981 0.9 1.0519 1.0714 0.9808
0.8 1.2195 . 1.2361 1.2148 0.8 1.1079 1.1532 0.8984
0.7 1.3666 1.3989 1.3542 0.7 1.1682 1.2474 0.6851
0.6 1.6498 1.6115 1.5185 ' 0.6 1.2330 1.3569 0.18562
0.5 1.7823 1.8969 1.7000 0.5 1.3028 1.4806 —1.0000
0.4 2.0828 2.2958 1.8438 0.4 1.3776 1.6230
0.3 2.4772 2.8807 1.6481 0.3 1.4578 1.7836
0.2 3.0000 3.7776 —1.0000 0.2 1.5436 1.9612
0.1 3.6904 5.1603 —39.50 0.1 1.6349 2.1530
0 4.5826 7.0410 l o] [1] 1.7321 2.3510
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d*u/dt* —u-teu*=0 (3.1)
du
{u(O):l, 7 (0)=b (3.2)
HRG.DEER
—a’th“T/u=1—-Cu3 : (3.3)
SINTEERS Y, HA
1—y,=K; ye—(1—eu®)=K,(1—eu®) ‘ (3.4)
m {Kz=8u3/(2—8u3) (3.5)
yo=1—K, ‘ (3.8)
R (3.6) A LA H
Ky=K¥=eu}/24+0(e?) (3.7)
Hih ughe=08fmuft, HR(3.1)5
u,=C,exp[t]+C,exp[ —t] (3_8)

KA G, CHABSER., BROG.RARG.NERAR(.5)WED, HuRk@Ee
u=(Crexp[t]+Ciexp[ —#])[1—(&/6) (Coexp[t]1+Ciexp[ —1])*]
+0(e*) (3.9)
C.exp(t]—=Ciexp[ —t]
[1+%6(Czexp[ﬂ+Caexp[—t])3]“3

U=

e(Ciexp[t]+Ciexp[ —t1)3(Coexplt] —Ciexp[ —t1)
[14(e/2)(Ceexp[t]+Crexp[ —¢])3]%3

BB H&m(3.2) % L RAKE

Co=[14+¢e/6+b(142¢/3)]/2

{ (3.11)
Cy=[1-+e/6—~b(1+2¢/3)]/2

H(3.9ORGANBERRIMABERSBoREBOR(3.1), (3.2)8E LR, E?ﬁﬁﬁﬁo(e).
X4 125 T AR Te=1mR(3.1), (3.2)7Fu=1H KK LR
u=1-+a,cos(/ 3 wt+B,)

(3.10)

{ +%ag[cos(2,\/§‘ot+2ﬂo)—3] ' (3.12)
w=1—"7a2/6 . }
HTIERAE RALR, RITEb=—0.6014, Hu(0)=1, 9% (0)=b=—0_ 6014t

#(3,12) 745
G=n/2/2, @=5/12, By=m/4
T%S ﬁ(3q12)ﬁzj§[
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u=1-+ 5 cos( i3 H_T)—F(Sln 5 t+3) (e=1) (3.13)
¥e=0,1, b=—0,6014 R AR(3,9)~(3,11)F

u=(0_1876exp[t]+0,8291exp[—t])-[l—%(0,1876exp[t]

+0,82916xp[—t])3] (3,14)

'1'1=(0,1876exp[t]—0,8291exp[—t])-[l—%(O,SWGexp[t]

+0,8291exp[—t])3] (e=0.1) (3.15)
Be=1Bb=—0_ 6014 AR(3.9)~(3.11)5

_27%%(2,2028exXp[ —t]—0, 2028eXp[t]

n= (3.16)

[1 +%(2,20286Xp[ —1]1—0,2028exp[t] )3]1/3

K 4BALERN (3 16)FSCI4IMEMERR (313 M T R, BTFX4INERRE
AT a1 5L, X APt ERRP =05, BE 4 TR, Y <040, AXLERR

(3.18) I [4]BAHR Z5 75 (3.13) HR—

E 5 (e=0.1)
B, BAXBEL X418 u~ 110 RE &
P, A TIBASGECURAEREE LR, T t ] Z;X - -
MRBRR ) KHEFRE. CREM)_ | A(BIE) | RGN
0 1 —0.5966 —0.6014
® 4 (e=1) 0.1 0.9435 ~0.5111 —0.5118
. 0.2 0.8966 —0.4272 —0.4211
T ) 0.3 0.8580 —0.3453 —0.3453
S DR 1 ¢ 7% 1) N _A(3.18) 0.4 0.8275 —0.2652 —0.2663
0 1 | 1 0.5 0.8049 —0.1867 —0.1898
0.1 0.9352 i 0.9387 0.6 0.7901 —0.1094 ~0.1167
0.2 0.8618 0.8754 0.7 0.7830 ~0.0328 —0.0547
0.3 0.7813 0.8110 0.8 0.7836 —0.0435 —0.0624
0.4 0.6955 0.7460 0.9 0.7917 ~0.1201 —0.1266
0.5 0.6066 0.6812 1.0 0.8076 —0.1975 —0.2004
d (d8\_ ) et
(3. 1) du- 5 () = (e —en')du
54
(du/dt)*/2=u*/2—eu/5+C,
_“_’“__. h/ 2_ 2 .5
a7 =4+ [u ?au +2C,
Hu=1Rdu/dt=—0 6014F5EC,, Ye=0 11f, LN
du/dt=~+n/ 45 —0.04u5—0,59832 (e=0.1) (3.17)

% 5 AT BURA(3.14), (3.15) 5 (3, 1) #F T iR, Be=0,1, 3 5 b,

K S DU R BRI,
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Interpolation Perturbation Method for Solving Nonlinear Problems

Yuan Yiwu

(Central South University of Technology, Changsha 410012, P R China)

Abstract

In this paper, using the interpolation perturbation method, the author seeks
to solve several nonlinear problems,K Numerical examples show that the method of

this paper attains good accuracy,

Key words interpolation, singular perturbation method, nonlinear



